

Mobile Interim Company No. 2 SAL

touch | Beirut Central Building | Plot No. 1526
 Bashaoura, Bloc B | Fouad Chehab Avenue
 P.O box 175051 | Beirut, Lebanon

T | +9611984111 | F | +9611983166

www.touch.com.lb

Purchase Order No. 14808

OPEX

PR No : 9742

Date : 09-AUG-2024

To : Serta Channels SAL
TIN No : 2181022

Tel : 961 03 461 321
Fax : 961 01 412 612

Subject : Fiber Patch Corde

Description	Quantity	Unit Price	Sub Total
Helawrap tubes for protecting fiber optic cables.	150	0.3	45
LC/APC – LC/APC multi-mode FLAT Duplex patch cord 20 meters.	50	21.3	1,065
LC/APC – LC/APC multi-mode FLAT Duplex patch cord 10 meters.	120	12.4	1,488
LC/APC – LC/APC multi-mode FLAT Duplex patch cord 5 meters.	120	8	960
LC/APC – SC/APC single mode FLAT Duplex patch cord 20 meters.	50	7.9	395
LC/APC – SC/APC single mode FLAT Duplex patch cord 10 meters.	120	5.9	708
LC/APC – SC/APC single mode FLAT Duplex patch cord 5 meters.	120	5	600
LC/APC – LC/APC single mode FLAT Duplex patch cord 20 meters.	50	8	400
LC/APC – LC/APC single mode FLAT Duplex patch cord 10 meters.	120	6	720
LC/APC – LC/APC single mode FLAT Duplex patch cord 5 meters.	120	5.1	612
Total (USD)			6,993

(Six Thousand Nine Hundred Ninety-Three US Dollar)

The contents of this fax are strictly confidential. Should you receive this fax by error, kindly destroy it, and contact our offices at your earliest convenience. Thank you.






Purchase Order No. 14808

OPEX

PR No : 9742

Date : 09-AUG-2024

Payment & Invoicing: To be paid in cash LBP at market rate on the date of payment

Delivery:

Reference: This PO is related to MoT Letter ref# 2948/1/M dated 16 July 2024

The attached general terms are considered an integral part of this purchase order number 14808
For any inquiries kindly do not hesitate to contact the Purchasing Unit at +961 3 792 243

A handwritten signature in black ink that reads "Salem Itani".

Salem Itani
Chairman - General Manager

A handwritten signature in black ink that appears to read "N.S." or "Nabil Salameh".

Nibal Salameh
Chief Financial Officer

A handwritten mark consisting of a stylized, horizontal, wavy line with a small vertical stroke at the end.

A handwritten signature in black ink that appears to read "B" and "AS".

Purchase Order No. 14808

OPEX

PR No : 9742

Date : 09-AUG-2024

General Terms

- Supplier should Bill to : MIC2 and Ship to: MIC2
- Supplier should check all prices and terms indicated on this Purchase Order, and advise MIC2 immediately in the event they are not satisfactory.
- Supplier should acknowledge receipt and confirm acceptance by sending a signed copy of this Purchase Order within 5 working days.
- Please quote our Purchase Order no # 14808 on all pertinent documents and correspondence.
- Items damaged or defected or not-conforming with this Purchase Order will be rejected on the Supplier's complete responsibility and complete provision, and his obligation to return the paid amounts.
- Supplier shall make delivery with complete documentation i.e. items accompanied with a delivery note and invoice matching the Purchase Order quantity. Any deviation from Purchase Order price and quantity should be authorized by MIC2 first.
- All info contained in this PO are confidential and supplier shall not disclose them to any third party for any purpose other than as required in relation to the object of the PO.
- Any delay in receipt of items may lead to cancellation of this Purchase Order on the Supplier's complete responsibility, and MIC2 has the right to refuse receiving it on the Supplier's responsibility.
- MIC2 reserves the right to cancel this purchase order at any time prior to acceptance by supplier, or after acceptance if the Supplier fails to meet the specifications and terms of this Purchase Order without any responsibilities on MIC2.
- MIC2 reserves the right to charge the Supplier for failure to comply with the terms of the Purchase Order, all that without prohibiting MIC2 from using the rights mentioned above, also demanding the supplier by any/all additional costs that may result from the delay in execution or in delivering a document or more requested by MIC2.
- This PO is not exclusive to Supplier. MIC2 retains the right to contract other parties for part of the work covered by this PO, under terms and conditions that might differ from the terms and conditions of the present PO, and Supplier has acknowledged this right without objection or reservation.
- Supplier shall keep in strict confidence and shall use all reasonable endeavors to bind all of its executives, employees, agents and personnel to keep in strict confidence all the information received, or which it obtains or to which it has access directly or indirectly from MIC2 in connection with this PO and shall not in any time disclose such information to any third party or make use of any such information for any purpose other than as required to execute the object of this PO. Supplier is aware that MIC2 is entitled to disclose any information and/or document relating to this PO to the Republic of Lebanon represented by the Ministry of telecommunications without obtaining Supplier's prior approval.

Purchase Order No. 14808

OPEX

PR No : 9742

Date : 09-AUG-2024

- Supplier shall not assign this PO, totally or partially, or any right or obligation hereunder without MIC2's consent. However, MIC2 shall have the right to assign, transfer or purport all of its rights and obligations under this PO to the Republic of Lebanon or any of its designee, without having to refer to Supplier or to obtain its consent prior to such assignment.
- Neither MIC2 nor Supplier is liable for delay or failure to perform any of its obligations under this PO insofar as the performance of such obligation is prevented by a force majeure event. Each Party shall notify the other Party of the occurrence of such a force majeure event and shall use all reasonable endeavours to continue to perform its obligations hereunder for the duration of such force majeure event. In case force majeure event exceeded one (1) month period, whether continuously or intermittently, either Party has the right to immediately terminate this PO by means of written notice without bearing any liability whatsoever. A force majeure event means any event, which is unpredictable, beyond the reasonable control of the Party liable to affect performance and external to this Party, and shall include but not be limited to riots, acts of war, acts of terrorism, epidemics, major fire, or natural disasters. For the avoidance of doubt, force majeure does not include strikes or other employment disputes of either Party's personnel or such Party's subcontractor's personnel.
- In case of any litigation arising out or in connection with this PO the Lebanese Laws shall apply. Disputes arising in connection with this PO shall be finally settled by the competent Courts of Law in Beirut.